AS=ZUA7oh R R2 [ vzsn |
& £57 BFR &G | Hroh| MG | Bk |hoF] astReobs i & R1 R2
1 LFI 1{i 8 1{i 15 1 24 1{i 8 1 | 15
2 SAl 2(i 6 2{i 12 1 19 2(i 6 20 | 12
3 HAY 33 5 3fi 10 15 3fiI 5 361 [ 10
4 SUZ 4431 4 44i1 8 12 afii | 4 Afi 8
5 KOG 5{i 3 5{i 6 9 5{i 3 5111 6

0 6l 2 6{il 4
0 7{i 1 7{i 3
0 8fi 1 8{i 2
0 ofil 1 ofil 1
0 106 | 1 106 | 1
0 116 | 1 116 | 1
0 126 | 1 126 | 1
0 136 | 1 136 | 1
0 1441 | 1 1441 | 1
0 156 | 1 156 | 1
0 166 | 1 166 | 1

JSAIZBM- -+ 1 fIDHKRE [ BoE noFR |

IFASBLUT - 20 FTRE HAY 0.3

9FATBUUT - SUFTRE
9FR9BLUT - AU FTRE

97A N1 BLATF - SHFETRE
77A128L k-« -6UETRE

XEMWEEIOFOLIE+3P, 80FALLE+2P, 70+ALIE+1P

T2y ERTHEEN T NASH 58I ROBICERYDH— M EMBTHELTS
LIRE, A LG<EOEHMIITERY)DH—M R ICTEVIRS




FP Q1 Q2
Gfii| FEy =H#E | TIME IBfi| a1  =#® TIME IGfii| 2e1 =# TIME
1 LFI 12| 23.866 1 LFI 15| 24.021
2 HAY [15] 23.879 Q2 2 SAl 12| 24.166
3 SAl 18| 23.972 3 HAY |11] 24.307
4 SUZ |14] 24.186 4 SUZ [14] 24572 "
5 KOG |[11] 24.868 5 KOG [11] 24958

RACE.1 RACE.2
B $#E0 (=8 R = Efz w2a0 |E%EH R =
1 LFI 15 10 - 1 LFI 11] 15 -
2 SAl 12 10 2.547 2 SAl 15| 15 0.377
3 HAY |11 10 4.898 3 HAY 12| 15 4.490
4 SUZ |18 10 9.533 4 Suz 13| 15 4.994
5 KOG | 14 10 12.282 5 KOG 18| 15 16.740




